Opened:	March 3, 2017		
	SAPD Rifles and Additional Parts for SWAT Unit	PHS Lewis Machine & Tool Company 1305 West 11TH Street	
For: 6100008623			
ltem	Description	AAS Quantity	Milan, IL 61264
			309-732-9527
1	RIFLE - CQBPS12 CQB MRP Defender Piston 12" 5.56 Barrel Manufacturer Name: Product Number: Price Each Price Total	28 Each	Lewis Machine & Tool CQBPS12 \$1,952.32 \$54,664.96
	Warranty		1 Year
2	Bolt Catch Product Number: Price Each Price Total	2 Each	LMP251 \$2.63 \$5.26
3	Trigger Guard Roll Pin Product Number: Price Each Price Total	2 Each	LMP109D \$2.63 \$5.26
4	Trigger Guard Assy Product Number: Price Each Price Total	2 Each	LMP109A \$16.62 \$33.24
5	H2 Buffer (piston) Product Number: Price Each Price Total	2 Each	8448730B-M2 \$32.55 \$65.10
6	Castle Nut Product Number: Price Each Price Total	2 Each	L7A2E \$8.50 \$17.00
7	Pivot Pin Product Number: Price Each Price Total	2 Each	LMP162 \$2.63 \$5.26
8	Mag Catch Spring Product Number: Price Each Price Total	2 Each	LMP255 \$2.63 \$5.26
9	Carbine Action Spring Product Number: Price Each Price Total	2 Each	LMP262A \$3.94 \$7.88
10	Buffer Retainer Spring Product Number: Price Each Price Total	2 Each	LMP258 \$2.63 \$5.26
11	Receiver End Plate Product Number: Price Each Price Total	2 Each	L7A2D \$8.19 \$16.38
12	Ejector Spring Product Number: Price Each Price Total	2 Each	LMP113 \$2.63 \$5.26
13	Mag Catch Button Product Number: Price Each Price Total	2 Each	LMP106 \$4.38 \$8.76

City of San Antonio Bid Tabulation

Opened: March 3, 2017 SAPD Rifles and Additional Parts for SWAT Unit			PHS Exemption	
For: 6100008623		AAS		
ltem	Description		1305 West 11TH Street Milan IL 61264 309-732-9527	
14	Mag Catch Product Number: Price Each Price Total	2 Each	LMP254 \$13.02 \$26.04	
15	Bolt Catch Spring Product Number: Price Each Price Total	2 Each	LMP253 \$2.63 \$5.26	
16	Takedown / Pivot Detent Product Number: Price Each Price Total	5 Each	LMP250 \$2.63 \$13.15	
17	Takedown / Pivot Spring Product Number: Price Each Price Total	5 Each	LMP249 \$2.63 \$13.15	
18	Bolt catch Product Number: Price Each Price Total	2 Each	LMP101 \$17.01 \$34.02	
19	Takedown pin Product Number: Price Each Price Total	5 Each	LMP163 \$2.63 \$13.15	
20	Fire Control Detent Product Number: Price Each Price Total	2 Each	LMP248 \$2.63 \$5.26	
21	Lock Washer Product Number: Price Each Price Total	2 Each	LMP277 \$2.63 \$5.26	
22	Disconnector spring Product Number: Price Each Price Total	4 Each	LMP91B \$2.63 \$10.52	
23	Pistol Grip Screw Product Number: Price Each Price Total	2 Each	LMP276 \$2.63 \$5.26	
24	Hammer Spring Product Number: Price Each Price Total	4 Each	LMP263 \$2.63 \$10.52	
25	Buffer Retainer Product Number: Price Each Price Total	2 Each	LMP257 \$2.63 \$5.26	
26	Bolt Catch Plunger Product Number: Price Each Price Total	2 Each	LMP252 \$2.63 \$5.26	
27	LMT Grip Product Number: Price Each Price Total	1 Each	4007LMT-BK \$21.00 \$21.00	

City of San Antonio Bid Tabulation

Opened:	March 3, 2017 SAPD Rifles and Additional Parts for SWAT Unit	PHS Exemption	
For: 6100008623		Lewis Machine & Tool Company 1305 West 11TH Street	
ltem	Description	Quantity	Milan, IL 61264 309-732-9527
28	Extension Tube Product Number: Price Each Price Total	1 Each	LMP259A \$36.59 \$36.59
29	QD Sling Swivel Product Number: Price Each Price Total	4 Each	CM004 \$11.44 \$45.76
30	S/A Selector Product Number: Price Each Price Total	2 Each	LMP092 \$21.00 \$42.00
31	SOPMOD Butt pad Product Number: Price Each Price Total	2 Each	7379761 \$34.12 \$68.24
32	SOPMOD Stock Product Number: Price Each Price Total	1 Each	L7LA2BA \$189.00 \$189.00
33	5.56 Bolt Assembly Product Number: Price Each Price Total	2 Each	L7A3B \$63.53 \$127.06
34	Firing Pin Product Number: Price Each Price Total	2 Each	LMP114 \$4.28 \$8.56
35	Cam Pin Product Number: Price Each Price Total	2 Each	LMP099 \$2.63 \$5.26
36	Firing Pin Retainer Product Number: Price Each Price Total	3 Each	LMP114A \$2.63 \$7.89
37	Ejector Roll Pin Product Number: Price Each Price Total	2 Each	LMP113A \$2.63 \$5.26
38	Ejector Product Number: Price Each Price Total	2 Each	LMP105 \$2.63 \$5.26
39	Ejector Spring Product Number: Price Each Price Total	2 Each	LMP113 \$2.63 \$5.26
40	Extractor Pin Product Number: Price Each Price Total	2 Each	LMP110 \$2.63 \$5.26

City of San Antonio Bid Tabulation

Opened: March 3, 2017 SAPD Rifles and Additional Parts for SWAT Unit			PHS Exemption	
For:		Lewis Machine & Tool Company		
6100008623			1305 West 11TH Street Milan,	
Item	Description	Quantity	IL 61264	
			309-732-9527	
41	Extractor Spring	2		
	Product Number: Price Each	Each	LMP111 \$2.63	
	Price Total		\$5.26	
42	Extractor Spring Insert (black)	2		
72	Product Number:	Each	LMP111A	
	Price Each Price Total		\$2.63 \$5.20	
	Price Total		\$5.26	
43	Extractor O-ring	2 Faceb	100622701	
	Product Number: Price Each	Each	100632701 \$2.63	
	Price Total		\$5.26	
44	Extractor	2		
	Product Number:	Each	LMP112	
	Price Each Price Total		\$13.33 \$26.66	
			Ψ20.00	
45	Charging Handle, Tactical Product Number:	2 Each	LMP103T	
	Price Each	Lacii	\$39.27	
	Price Total		\$78.54	
46	Port Door	2		
	Product Number:	Each	LMP089	
	Price Each Price Total		\$3.94 \$7.88	
			Ψ1.00	
47	Roll Pin Product Number:	2 Each	LMP115F	
	Price Each	Lacii	\$2.63	
	Price Total		\$5.26	
48	Port Door Spring	2		
	Product Number:	Each	LMP089B	
	Price Each Price Total		\$2.63 \$5.26	
40			·	
49	Port Door Rod Product Number:	2 Each	LMP089A	
	Price Each	23011	\$2.63	
	Price Total		\$5.26	
50	Roll Pin	2		
	Product Number: Price Each	Each	LMP251 \$2.63	
	Price Total		\$2.03 \$5.26	
F.4	Taru Caraua	10		
51	Torx Screws Product Number:	10 Each	L7S1D	
	Price Each		\$8.02	
	Price Total		\$80.20	
52	SS Washer	8		
	Product Number: Price Each	Each	L7S1WAS \$3.99	
	Price Total		\$31.92	
53	12.5" Barrel	1		
33	Product Number:	Each	L7MC1B	
	Price Each Price Total		\$317.90 \$317.90	
	Warranty - Additional Parts		90 Days	
	Delivery after ATF License approval		8- 10 Weeks	
	Payment Terms		NET 30	
	TOTAL		\$56,149.31	
	TOTAL AWARD		\$56,149.31	